Exercise 3
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Questions

1. If you know that the incoming beam is of  K- particles,  what is the direction of the magnetic field?
2. How many charged particles leave point A? 

3. Is the event at point A, a decay or a collision?
4. What can we say about the particle that produces the event at point B? 

            Is it: a highly charged particle, a high mass particle or a neutral particle?   

5. What particles leave point B? 

6. What event happens at point E, a decay or a collision?  

7. Connect point C with point D. Does the neutral particle that decays at point C come from point A or E?   

8. Which of the particles, that travel between points C and D, will have the largest momentum?

9. What particle moves between point A to point E, an - , K- , + or a - ?  

            Hint:  look at the signatures! 

10. What particle goes from point E to point C?  
11. What particles leave point C? 

12. Which particle leaving point C has the largest speed? 

Answers
1. into paper, away from you

2. 2
3. collision
4. neutral particle
5. a + and a - particle
6. a decay
7. point E
8. the positive particle 

9. -
10. o
11. a proton and a -
12.  -
